New Maths GCSE: G7 - Circle Questions in terms of pi

What is the circumference of this circle, in
terms of T]?

10m cm B S5mcm
20m cm u 25m cm

What is the area of this circle, in terms of T]?

36m cm? 8 | 12m cm?

61 cm? n 144w cm?

What is the circumference of this circle, in
terms of TT?

3mem u 36mcm
61 cm u 127 cm
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Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



What is the area of this circle, in terms of T]?

10m cm B 20mrcm

25T cm n 100 cm

Circumference
=36m
What is the radius of the circle?

18 cm ﬂ 36cm
6 cm ﬂ 3cm

reS
Area = 641 cm?

What is the radius of the circle?

8cm n 4cm
16 cm n 32cm

Circumference
= 1441 cm
What is the diameter of the circle?

12cm ﬂ 72 cm
6 cm u 144 cm
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD

Explanation:

Area = 1967 cm? [T e LR L LR LR L L L LR LI L LR EEEECLLLREEREEE

What is the diameter of the circle?

28 cm B tiom |
98 cm Bl  7cm | e
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